
P
C

19
5

2-
P

C
1

8
61

 –
 F

IA
T

 5
00

 S
A

B
E

L
T

 S
E

A
T

S
 L

O
W

E
R

IN
G

 K
IT

 

  
   

 
1 

 
 
 

PC1952 – PC1861 FIAT 500 ABARTH 
SABELT SEATS LOWERING KIT 

 
BE CAREFUL! The operations described in the points below must be carried out by a 
professional mechanic. These instructions are only indications and lam Engineering s.r.l. 
assumes no responsibility for damage to things and/or people. 
 
Remember that this kit is not been homologated for road use! 

 
The instructions refer to both the driver and passenger seats as the seats are 
symmetrical. In the description below we will describe only the driver's seat 

 
 

1.  In the following picture the DNA kit with all its components shown. 
 

                                 
 

2. Assemble the plates, positioning them at the desired height, as shown in the picture, using 
no.9 M8x16 screws and relative nuts and washers as provided in the kit. 
 

                               
 
                          



P
C

19
5

2-
P

C
1

8
61

 –
 F

IA
T

 5
00

 S
A

B
E

L
T

 S
E

A
T

S
 L

O
W

E
R

IN
G

 K
IT

 

  
   

 
2 

 
3. Remove the seat from the vehicle: 

 
Remove the two retaining screws (A) at the front of the seat and the two screws (B) at the 
rear. Disconnect the electrical harness connector under the seat. 
It is now possible to remove the seat from the vehicle. 

 

                          
 

4. Place the seat on a surface and use a screwdriver to disconnect the spring of the backrest 
lowering cable and the cable itself from its retaining seat. 
 

                                                        
 

5. Remove the 5 screws from the lower seat base and remove the lower base from the seat. 
 

 
 



P
C

19
5

2-
P

C
1

8
61

 –
 F

IA
T

 5
00

 S
A

B
E

L
T

 S
E

A
T

S
 L

O
W

E
R

IN
G

 K
IT

 

  
   

 
3 

 
6.  

a. Using a screwdriver remove the connector (C) from the plate. 
b. Remove the 4 screws (A). 
c. Remove the 4 screws (B). It is now possible to remove the upper seat base. 
d. Replace the screw (D) of the seat belt fastening support with the one (M10x16)   
    supplied in the KIT after removing the plastic cap. Replace the plastic cap. 
 

               
 

7. The seat will apper like this. You are now ready to install DNA guides. 
 

                                         
 

8.  
a. Place the right DNA guide on the seat and secure it using the 4 screws (A) 

previously removed in section 6.b. 
b. Place the left DNA rail on the seat and secure it using the 4 screws (B) previously    

removed in section 6.c. 
c. Reposition the backrest lowering cable in its seat. 
d. Reposition the backrest lowering cable spring. 



P
C

19
5

2-
P

C
1

8
61

 –
 F

IA
T

 5
00

 S
A

B
E

L
T

 S
E

A
T

S
 L

O
W

E
R

IN
G

 K
IT

 

  
   

 
4 

     
 

9. Position the lower base of the seat, previously removed in section 5. fixing it with the 5 
M8x16 screws and relative nuts supplied in the kit. 
 

                                                
 

10. You are now ready to install the seat in the passenger compartment by repeating the 
procedure described in section 3 in reverse. If you want, you can fit the plastic covers. 
 

                                                  



P
C

19
5

2-
P

C
1

8
61

 –
 I

S
T

R
U

Z
IO

N
I 

K
IT

 A
B

B
A

S
S

A
M

E
N

T
O

 S
E

D
IL

E
 S

A
B

E
L

T
 F

IA
T

 5
0

0 

  
   

 
1 

 
 
 

PC1952 – PC1861 ISTRUZIONI DI 
MONTAGGIO KIT ABBASSAMENTO 
SEDILE SABELT FIAT 500 ABARTH 

 
ATTENZIONE!! Le operazioni descritte nei punti sottostanti devono essere eseguite da 
un meccanico professionista. Queste istruzioni sono solo delle indicazioni e Lam 
Engineering s.r.l. non si assume alcuna responsabilità relativa a danni a cose e/o a 
persone.  
 
Ricordiamo che questo kit non è omologato per uso stradale! 
 
Le istruzioni si riferiscono sia al sedile guidatore che passeggero in quanto i sedili sono 
simmetrici. Nella descrizione sottostante descriveremo il solo sedile guidatore 

 
 

1.    Nella foto seguente il kit DNA con tutti i suoi componenti 
 

                                 
 

2. Assemblare le piastre, posizionandole all’altezza desiderata, come mostrato nella foto, 
utilizzando no.9 viti M8x16 e relativi dadi e rondelle fornite nel KIT. 
 

                               
 



P
C

19
5

2-
P

C
1

8
61

 –
 I

S
T

R
U

Z
IO

N
I 

K
IT

 A
B

B
A

S
S

A
M

E
N

T
O

 S
E

D
IL

E
 S

A
B

E
L

T
 F

IA
T

 5
0

0 

  
   

 
2 

                          
3. Rimuovere il sedile dal veicolo: 

 
Rimuovere le due viti (A) di ritegno nella parte anteriore del sedile e le due viti (B) nella 
parte posteriore. Disconnettere il connettore del cablaggio elettrico sotto al sedile. 
E’ ora possibile rimuovere il sedile dal veicolo. 

 

                          
 

4. Adagiare il sedile su un piano e disconnettere con un cacciavite la molla del cavo 
abbassamento schienale e il cavo stesso dalla sua sede di ritegno. 

 

                                               
 

5. Rimuovere le 5 viti della base inferiore del sedile e rimuovere la base inferiore. 
 

 
 
 



P
C

19
5

2-
P

C
1

8
61

 –
 I

S
T

R
U

Z
IO

N
I 

K
IT

 A
B

B
A

S
S

A
M

E
N

T
O

 S
E

D
IL

E
 S

A
B

E
L

T
 F

IA
T

 5
0

0 

  
   

 
3 

 
6.  

a. Usando un cacciavite rimuovere il connettore(C) dalla piastra.  
b. Rimuovere le 4 viti (A).  
c. Rimuovere le 4 viti (B). É ora possibile rimuovere la base superiore del sedile. 
d. Sostituire la vite (D) del supporto aggancio cintura di sicurezza con quella 

(M10x16) fornita in dotazione nel KIT dopo aver rimosso il tappo in plastica. 
Rimettere il tappo in plastica. 

 

               
 

7. Il sedile vi apparirà in questo modo. Adesso siete pronti per installare le guide DNA. 
 

                                         
 

8.  
a. Posizionare la guida destra DNA sul sedile e fissarla usando le 4 viti (A) 

precedentemente rimosse nella sezione 6.b.  
b. Posizionare la guida sinistra DNA sul sedile e fissarla usando le 4 viti (B) 

precedentemente rimosse nella sezione 6.c.  
c. Riposizionare il cavo abbassamento schienale nella sua sede. 
d. Riposizionare la molla del cavo abbassamento schienale. 



P
C

19
5

2-
P

C
1

8
61

 –
 I

S
T

R
U

Z
IO

N
I 

K
IT

 A
B

B
A

S
S

A
M

E
N

T
O

 S
E

D
IL

E
 S

A
B

E
L

T
 F

IA
T

 5
0

0 

  
   

 
4 

 

     
 

9. Posizionare la base inferiore del sedile, precedentemente rimossa nella sezione 5.   
fissandola con le 5 viti M8x16 e relativi dadi forniti nel KIT. 
 

                                                
 

10. Siete adesso pronti per rimontare il sedile nell’abitacolo ripetendo all’incontrario la      
procedura descritta nella sezione 3. Se volete potete montare le modanature in plastica. 

 

                                                  


	PC1861  - PC1952 kit abbassamento sedile sabelt 500  guidatore+passeggero UK
	PC1861  - PC1952 kit abbassamento sedile sabelt 500  guidatore+passeggero ITA

